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I 28 mwn: status of non-Jew’s nYNY — considered nY»21 and has RwnN NRMYV

a
b

C

inference: this implies that it is nX3n2 1M and not considered 1y navpn
observation: this runs counter to ty"YR '3, who ascribes the default intent of an 0™y to "y
~277 37 read it as implying that a 1”y% pn who slaughters — it is nRan2 MoR
i Support (Nn12273): a pn’s actions are considered idolatrous:
avny: for vy
Bread: considered >m> na (prohibited)
Wine: considered 703 1
Scrolls (which he writes): considered “sorcery” (i.e. must be destroyed)
Fruit: automatically 920 (i.e. his separation of n"7n is invalid)
(a) Some add: his children (sic) are P mn (we assume he allows his wife to have affairs — p”n disputes this)
Reexamining the premise of our Aywp: why not suspect that the » is a devotee?
i Answer (mar 73 727 ow3a 17): there are no “true” devotees among the pagans

1 Challenge: we see that there are real devotees!

2 Rather: most of them are not devotees, per 130’ 7 — 0"12Y in 5N are just following ancestral tradition
ii  Rewvsiting 177's ruling: there are no P»n among 0™y

1 Practicum: cannot be for nv'nw, as we even invalidate a Pn-5>87w>’s slaughter

(a) Cannot be: for rule of "1’ as if that is true for a pn-Y9R7w, certainly for a 0™y
(b) Must be: for accepting their m111p, as the distinction of nan (v. 1), disallowing acceptance of m11p from
apostate Jews, is not applied to non-Jews and any may send 127p
(i) And:we can’t posit that we never accept n1127p from non-Jews (per v. 2 - WX WX includes non-Jews)

Reexamining 8wp nxmv. this should be obvious - if it is considered n%ay, it has xwn nrmv
i ANa7sresolution(s): involving the dispute 0nan/X71PN2 12 AT’ ™ if 1Y N2IPN carries YNR NRMY, per v. 3

1 wversionl: implies that there is another parallel case (1"y na1pn), where it has YNk nkmv, per R1na 12 T "

2 wversion2: all of them have Xwn nrMY only — never YR NRMY — contra RPN 12 TN "
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II 3% mwn: if a no'nw was performed at night or by a blind man -valid

a

b

Observation: the wording of the mwn implies that this is post facto (12v>72)
Challenge: ruling that we may “always” perform no'nw, whether day or night (and anywhere) — n>nna%
i Answer (97): that ruling is only in a case where he has a torch (our mwn - if he has no light)
ii  Support (»w& "): our mwn compares night to a blind man, i.e. no light whatsoever
1  And: the other ruling compares night to day —i.e. he has light
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